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Time: 2 hour

?SSi“lt U“;‘ée':Sity Summer Semester Exam Course Code: 100Z
aculty of Science General Zoology August, 2024
Zoology Department ’

Answer the following questions (50 marks)
Question 1: Choose the correct answer of the following (30 marks):

1. All of the fallowing are membranous organelles except.....co.eeeee ;

a) Mitochondria b) Ribosomes ¢) Golgi complex.

2. The cell organelles which concerned with synthesis of lipids and phospholipids

a) Golgi apparatus b) Mitochondria ¢) Smooth endoplasmic reticulum

3. Homogenous rounded vesicles, with hydrolyzing, digestive enzymes
and surrounded by single membrane --------
a) Nucleus b) Centrioles ¢) Lysosomes.

4. The movement of molecules from high to low concentration through the
lipid bilayer called---—

a) Facilitated passive diffusion
b) Simple passive diffusion
¢) Active transport

5. The entrance of liquid material into the cell across the cell membrane
called----- -
a) Phagocytosis b) Endocytosis ¢) Pinocytosis

6. What type of body cavity the nematodes have?

a) Coelom b) Pseudocoelom ¢) Acoelom
7. These organisms have a chitinous exoskeleton and jointed appendages.

a) Echinoderms b) Annelids ¢) Arthropods
8. A branch of zoology concerned with description, identification, nomenclature and
classification of animals is called----—--
a) Taxonomy b) Histology ¢) Cytology
9. Polyp and medusa are forms 1) (ORI
a) Poriferans b) Cnidarians ¢) Protozoans

wr g
1024 a_gliploblastic animals,

a) Annelida b) Platyhelminthes ¢) Cnidaria



11. In which phylum the digestive system is complete------
a) Nematoda b) Platyhelminthes ¢) Cnidaria

12. The plasma membrane of muscle fibers is known as ...................
a) Sarcoplasm b) Sarcolemma ¢) neurolemma
13, cvviiriiiiininnns support and protect neurons as they do not participate in

signal transmission.
a) Neurons b) Neuroglia ¢) Axons
T THE von v vovonempmemsans summmuss hormone stimulates milk production.
a) Prolactin b) FSH ¢) LH

15. Which one of the following is NOT considered a connective tissue?
a) Cartilage b) Bone ¢) Muscle
18: ssssiisomes spen verssmmasmmre v e s e acts as thermal insulation.

a) Connective tissue b) Epithelial tissue. ¢) Bones.
17. All types of connective tissue originate from........ccoeuveurenrnerneereernnens

a) Mesoderm b) Endoderm ¢) Ectoderm

18. The axons of several neurons collect together to form.........c..c.oeuuene....

a) muscles ’ b) nerves. ¢) Schwan’s cell.
19. The increase of growth hormone secretion in adults lead to................

a) Acromegaly disorder b) Gigantism ¢) Dwarfism

20. The yolk concentrated at vegetal pole in the .........cccccvuvervurnnnnnnn. egg.
a) Isolecithal b) Telolecithal ¢) Centrolecithal

p.{ PR secrets calcitonin hormone which stimulates calcium uptake-by bones.
a) Thyroid gland b) adrenal gland ¢) Pancreas.

b are cube-like cells with large, spherical central nuclei.

a) columnar epithelium.  b) squamous epithelium. ¢) Cubodial epithelium
23, Blood cells DEloNE 10 cuwss vsisnusnnsns s ssmsmmmununss s ossss s sisssinsions s vomeoss

a) Skeletal connective tissue.
b) Epithelial tissue
¢) Vascular connective tissue.
24. Bone and cartilage are .........coceviiiiiniiiiiiiiiiieireniitiiteneenceeenensenns
a) Skeletal connective tissue )
b) Vascular connective tissue
b) Connective Tissue Proper.

25. The epithelial tissue which present in the wall of blood vessels................
a) Simple cubodial epithelium.
b) Stratified squamous epithelium
¢) Simple squamous epithelium.

)



26.

a) Nerve cell of Fasciola Sp.
b) Flame cell of platyhelminthes.
¢) Porocytes of Sponges.

27.

a) Flame cell of Fasciola sp.
b) Cnidocytes of cnidaria
¢) Choanocytes of porifera.

28.

a) Phagocytosis
b) Active transport
¢) Passive transport

29.

a) Dwarfism due to increase of GH secretion before puberty.
b) Dwarfism due to decrease of GH secretion before puberty.
¢) Gigantism.

30.

a) Stratified squamous epithelium
b) pseudostratified ciliated columnar epithelum in the trachae.
¢) pseudostratified ciliated columnar epithelum in the skin.




Question 2: Answer the following by '"True" or "False'" (25 marks)

1. Oogenesis referred to the process of male gametes formation. « )
2. Muscular tissue is the body tissue which covers exposed surfaces, lines body cavities
and forms glands. « )
3. Connective tissue is avascular tissue (has no blood vessels). « )
4. Exocrine glands releases their secretory product into the extracellular space from
which it enters the bloodstream « )
5. The term stratified refers to the fact that an epithelial tissue has only one layer of
cells. « )
6. Goblet cell is considered as unicellular gland. « )
7. Pseudocoelum, the body cavity that is completely surrounded by tissue derived from
the mesoderm. ( )
8. GH secreted from the anterior lobe of pituitary gland. « )
9. Mitochondria membranous organelles are the sites of energy production in cells.
¢ )
10. Centrioles organelles modify, sort and package proteins in the cell. « )
11. The nucleus is enclosed in membrane known as nuclear envelope. ¢ )
12. Both glycolipids and glycoproteins are called glycocalyx (cell coat).  ( | )
13. Phylum Annelida is characterized by radial symmetry. C )
14. Amoeba moves using pseudopodia. : i « )
15. The notochord is a supporting structure found at all chordates. « )
16. The body of leechs divided into several annuli. ( )
17. Follicle-stimulating hormone (FSH) plays an important role in the menstrual
cycle. « )
18. Endocytosis refers to the movement of materials from the cell across the cell
membrane to outside the cell. ( )
19. Ribosomes are responsible for protein synthesis within the cell. « )
20. Tissues are group of cells that are similar in structure and perform common or

related functions. « )

With my best wishes
Dr. Asmaa Ramadan
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Final Exam ”1%

e The exam is equivalent to 50 marks )
2023-2024 Dr. Mohamed Sabet General Physics II
24/08/2024 15 level
Time: 2 hrs. Code: 105P

Faka AT B clla¥) dois 8 000 ALYl g o ) e
Ll DoY) cildial) ala 3aal gl LBl Ala) ¢pa ish LSS s B @
b Saal g Al 43 ) g Bfcaldall (Ga (g B pilal) Sl day LlaY) Guhadi o) il Sy Y e
General constants:
(e = 1.6 X 10~1°C is the magnitude of the electronic charge)

(ke = i = 8.99 x 10° N.m?%C? is Coulomb’s constant)
)

First Question: True or False

L
2,
3.

4.

8.

9.

Light is an electromagnetic radiation; it can travel in both matter and vacuum.
Light velocity in any medium is larger than in vacuum.

From the laws of reflection, we can conclude that the angle between the incident ray
and the reflected ray is double the angle between and incident ray and the normal.
The refractive index of a medium is directly proportional to the speed of light in that
medium.

. The critical angle is the angle of incidence that produces an angle of refraction of

90°.

Total internal reflection occurs only when light attempts to pass from a less optically
dense medium to a more optically dense medium with an angle greater than the
critical angle. :

The optical center is the center of the lens in which light passes without undergoing
any deviation (a ray of light passing through the optical center will not change its
direction). .
The focal length is the distance between the focal point and the optical center of the
lens.

While forming a real image using a converging lens, and using the general form of
the mirrors and lenses, larger the object distance p means a larger image distance q.

10.Accommodation is the process by which the vertebrate eye changes its optical power

to maintain a clear image on retina or focus on an object as its distance varies.

11.0ne of main sight defects is myopia, in the myopic eye, the image of a nearby object

focuses behind the retina and the near point of the lies longer than 25 cm. The eye is
treated with a converging lens.

12.Cornea with astigmatism is spherical.

13.Neutral material does not contain any charge type.

14.Any charge is quantized and conserved.

15.Resistance to the flow of the charge inside conductors increases with increasing the

temperature.
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16.Charging an object by induction requires no contact with the body inducing the
charge.

17.Coulomb confirmed that the force between two-point charges is directly proportional
to the square of their separation and inversely proportional to both charges.

18.Coulomb’s constant can be obtained by the permittivity of the medium, the
permittivity has the units of (C%/N.m?).

19.The electric force is repulsive for two charges of the opposite sign.

20.The electric field at a point is defined as the electric force acting on a positive test
charge placed at that point divided by the magnitude of the test charge.

21.The electric field points radially inward toward the positive charge.

22.The number of electric field lines drawn is proportional to the magnitude of the
charge that created the electric field.

23.Two drawn electric field lines can cross.

Second Question: Choose the most accurate answer

24.From figure, the angle 05 equals ...

a) 75
b) 65
c) 25
d) 15 :
25.From figure, and from the laws of refraction, the refractive index of the 1% medium
is ... the refractive index of light in the 2™ medium.

incident ray

- — -

Refracted ray

a) Larger than
b) Equal to
¢) Smaller than
d) Unrelated to (no enough information to relate both velocities)
26.A beam of light traveling in a medium with index of refraction of 2.5 to a second
medium. The incident beam makes an angle of 40° with the normal, and the refracted
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beam makes an angle of 60° with the normal. The index of refraction of the second
material is ...
a) 1.85
b) 1.47
c) 1.34
d) 0.74
27.A diverging lens is always ...
a) Thicker at the middle
b) Thicker at the edges
¢) have a positive focal lens
d) have a positive power
28.A converging lens of focal length 30 cm forms real images of objects placed at ...
from the lens.
a) 25cm
b) 20 cm
¢) 10cm
d) None of the above
29.A real image is formed 50 cm away from a concave lens. The lens has a focal length
of 10 cm. How far is the object from the lens?
a) 40 cm
b) 35cm
¢) 22.5cm
d) 12.5cm
30.If the magnification of an image that is caused by a lens equals to -0.75, the image
is ...
a) Diminished and upright
b) Diminished and inverted
¢) Enlarged and upright
d) Enlarged and inverted.
31.A cylindrical lens is used in treatment of ...
a) A myopic eye
b) A hypermetropic eye
c) A presbyopic eye
d) An astigmatic eye
32.If the near point of a person is at 50 cm, the power of the lens suitable for reading is
a) 2D
b) -2D
c) -6
d) 6D
33.A metallic object holds a charge of —1.2 X 10~°C. What total number of electrons
does this represent?
a) 1.92 x 10%8
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b) 1.92 x 10728
c) 2.13x107%°
d) 7.5 x 10°
34.If body “M”, with a positive charge, is used to charge body “N” by induction, what
will be the nature of the charge left on the “N” body?
a) must be equal in magnitude to that of M
b) must be positive
¢) must be greater in magnitude than that of M
d) must be negative
35.For two charges of (-3 C) and (5C), with separation of (2 m), the magnitude of the
electric force is ... N (Assume that coulomb's constant equals 9 X 10° Nm?2/C?).
a) 3.38 x 10%°
b) —3.38 x 101°
c) —6.75 x 1010
d) 6.75 x 1010
36.If both two charge values are tripled and maintained at a constant separation, the
mutual force between them will be changed by what factor?
a) 3
b) 0.33
c) 1/9
d 9
37.Two charges, +Q and +Q, are located two meters apart and there is a point along the
line that is equidistant from the two charges as indicated. Which vector best
represents the direction of the electric field at that point?

AE
-
E. E,
+Q +Q

a) Vector Ea
b) Vector Eg
c) Vector Ec |
d) The electric field at that point is zero.
38.The electric fields at points A, B and C in the shown
figure are ranked according to their magnitudes (from
high to low) as
a) A,B,C
b) C,B, A
¢c) B,C A
d C,AB
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39.The direction of the acceleration of a charge due to an applied electric field depends
on...
a) The direction of the electric field and the charge type.
b) The direction of the electric field and the charge mass.
¢) The charge type and the charge mass.
d) The direction of the electric field only.
40.Charge A has 50 electric field lines coming out, charge B has 20 lines coming out,
and charge C has 30 lines coming in. Which pair of these charges will have the
largest electrostatic force between them if placed one cm apart and what is the type
of force?
a) Cand A, repulsive
b) Cand A, attractive
¢) Band C, attractive
d) Band C, repulsive
41 Which of the following statements is false about the electric field lines associated
with electric charges?
a) Electric field lines can either be straight or curved.
b) Electric field lines can form closed loops.
¢) Electric field lines begin on positive charges and end on negative charges.
d) Electric field lines can never intersect with one another.
42 The number of clectric field lines penetrating some surface and perpendicular to that
surface is ...
a) the electric force
b) the electric flux
c) the electric field
d) the electric potential
43 1If the net flux through a Gaussian surface is zero, which of the following statements
must be true?
a) There are no charges inside the surface.
b) The net charge inside the surface is Z€r0.
c) The electric field is Zero everywhere on the surface.
d) Nothing of the above statements must be true.
44 The net electric flux through a closed surface depends on ...
a) The charge location inside the surface
b) The shape of the surface ‘
c) The position of the charge inside the surface
d) The sum of the charges inside the surface
45.A charge, +0, is placed inside a balloon and the balloon is inflated. As the radius of
the balloon 7 increases the number of field lines going through the surface of the
balloon:
a) increases proportionally to 7.
b) increases proportionally tor.
¢) stays the same.
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d) decreases as 1/r.
46.A closed surface contains the following point charges: 6 C, 4 C,—2 C,—4 C. The net
electric flux on the surface is:
a) 16/e,.
b) —16 /e,.
c) 4/¢,.
d) 4 /e,.
47.A spherical enclosed surface contains two charges 5 pC and -2 pC inside it, and one
charge of 2 puC outside it, the net electrical flux through this surface is ...
a) 3x107¢ Nm?/C
b) 5.65 x 10° Nm?/C
¢) 5x 107 Nm?/C
d) 3.39 x 10°> Nm?/C
48.The electric field due to a thin charged spherical shell, at a distance r from the center
of the shell and larger than the shell radius a, is given by ... (assuming the shell is
carrying a Q charge).
a) E=k, TQ—Z
r
b) E=k. 3
r
¢) E=keZ
d) Zero

49 The electric field due to a thin charged spherical shell, at a distance r from the center
of the shell and smaller than the shell radius a, is given by ... (assuming the shell is

carrying a Q charge).
a) E=k, ,?—2
b) E = ko3
¢) E=ke3
d) Zero
50.The electric field due to a spherically symmetric charge distribution, at a distance r

from the center of the sphere and smaller than the sphere radius a, is given by ...
(assuming the sphere is carrying a Q charge).

@E:@%
b) E =k 3
¢) E=keZ
d) Zero

End of questions
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Assiut University ‘::% Summer 2024
Faculty of Science :{ Time: 3 h

Chemistry Department {
Final Examination of Chemistry II (1050) for Credlted Hours Students

Part 1. An Introduction to Organic Chemistry (25 Marks)
Q1: Give IUPAC name for five of the following compounds: (16 Marks)

PeNNNCS
ag

8.

¢
e A
o

Q2: Choose (T) for true sentences or (F) for false ones: (9 Marks)

1. In the periodic table, elements in the same raw have similar electronic and chemical properties.
(T/F)

. Oxygen has two isotopes: '°0, and '*0. (T/F)
. Ethanol and dimethyl ether are constitutional isomers. (T /F)
. The bond C-C in acetylene is shorter than in ethylene. (T /F)

. Alkenes are nonpolar compounds. (T/F)

. The carbon of methane is primary. (T /F)

2
3
4
5
6. Tertiary carbon is a carbon bonded to three hydrogen atoms and one carbon. (T /F)
7
8. Electronegativity of oxygen is greater than in fluorine. (T /F)

9

. The molecular formula of octane is CsHyg. (T/F)

Turn over for the rest of questions




Part II. Non-organic part (25 Marks)

Answer the following questions:

Q1: Put (T) for the True sentences or (F) for the false ones (Answer only 5 points):

(5 Marks).

Most of the chemical reactions are reversible. -
When the rate of the forward reaction (Ry) becomes equal to the rate of the reversible reaction
(Ry), the reaction goes to completion.

If the stoichiometric coefficients in the balanced equation are multiplied by 2, the new K, will be
the old K, raised to the corresponding power 3.

For reactions involving gases, it is better to use the partial volume instead of the molar
concentration.

By knowing the value of K., we can determine the extent to which a particular reaction can take
place.

A very small value of K, means that the formation of products can take place.

If An > 0, addition of an inert gas at constant pressure will decrease the formation of products.

Q2: Answer only S points of the follwinog:(20 Marks)

1.

What is the molarity of NH,OH solution has a pH =5.2? (K for NH,OH = 1.8x10™)

2. What is the pH value of a solution prepared by dissolving 0.0155 mole Ba(OH); in water to give

735 ml aqueous solution? Assume that Ba(OH); is completely dissociated.-
What is the solubility of Ag,SO, in 1 M aqueous Na;SOj4 solution? (K = 1.4x10_5).

What is the molar solubility of Mg(OH), in 1 M NH; (K,, =1.8x107"", K, = 1.8x107%).

Calculate the pH of a solution that is both 0.2 M CH;COOH and 0.25 M CH3COONa?
(K,=1.8 x107)

At 18 °C, the solubility of CaC,04 in water is 0.00067 g/100 ml. Calculate its solubility product
(Ca=40, C=12, 0=16).

Dr. Ahmed Abdou Omar Dr. Mohamed Abd El-Aal
Good Luck



i
Assiut University § | Summer 2024
Faculty of Science % ik [ i Time: 3 h
Chemistry Department L

Final Examination of Chemistry II ( IOSC) for Credlted Hours Students

Part 1. An Introduction to Organic Chemistry (25 Marks)
Q1: Give IUPAC name for five of the following compounds: (16 Marks)

PeNNNCS
CCL ek
g

8.

¢
s
o

Q2: Choose (T) for true sentences or (F) for false ones: (9 Marks)

1. In the periodic table, elements in the same raw have similar electronic and chemical properties.
(T/F)

2, bxygen has two isotopes: 1%0, and 0. (T/F)

3. Ethanol and dimethyl ether are constitutional isomers. (T /F)

4. The bond C-C in acetylene is shorter than in ethylene. (T /F)

5. Alkenes are nonpolar compounds. (T/F)

6. Tertiary carbon is a carbon bonded to three hydrogen atoms and one carbon. (T /F)
7. The carbon of methane is primary. (T/F)

8. Electronegativity of oxygen is greater than in fluorine. (T /F)

9. The molecular formula of octane is C;H;¢. (T/F)

Turn over for the rest of questions




Assiut University _ September 2024
Faculty of Science Time allowed: 2 h
Chemistry Department
Summer Semester Examination
Subject: General Chemistry I (C-100)
Students: First Level “Credit Hours System”

Part (I) (25 Marks)

Answer all the following questions:

A) Sodium liberates H, gas according to the reaction:
2Na(s) + 2Hzo(nq) <> 2NaOH(S) + H2(g)

if you collect the gas at 0 °C under 750 mmHg of pressure, and it occupies 4.48 liters.
Find the reacted mass (in grams) of sodium.

(At.wt. of Na =23, R = 0.082 L.atm. mol 'K ™).

B) A 53-liters bulb contains n moles of O, gas at152 mmHg pressure and at temperature
273 K. Calculate the new pressure when 320 gm O, gas were added for the same
volume and at the same temperature. (At.wt. of oxygen=16).

C) Calculate the overall potential of the following galvanic cell:
Zng | Zn** (0.01 M) || Zn* (1.0 M) | Zng,
at 25°C; (E° Zn*'/ Zn =-0.76 V).
D) Write short notes on Two of the following:
i- Differences between lyophilic and lyophobic colloids.
ii- Electrophoresis .
iii- Daniell cell.

F) Derive Langmuir equation.

Part (II) (25 Marks)

A) Put (\/) for true sentences or (X) for false sentences: .................. (8 Marks)
i) The hybridization of C in H-C=C-H molecule is sp’ ( )
ii) The absorption spectra consist of a series of dark lines superimposed on

the continuous spectrum of the light source. ¢ )
iii) de Broglie assumed that the electron orbit would be allowed only if its
circumference is equal to an integral number of electron wavelengths ¢ )

‘| Please turn over for the rest of question




iv) The B, molecule has diamagnetic properties. C )
v) The bond angle in CH4 molecule is smaller than that in NHj. ( )
vi) Ne; molecule does not exist. ( )
vii) The geometrical shape of BrFs molecule is square pyramidal. ( )
viii) In a bonding molecular orbital, the nuclei are attracted to an

accumulation of electron density outside the internuclear region. ( )
B) Choose the correct answer (a), (b), (¢) or (d): ..coovveinviiiiiiininnennns (8 Marks)
i) The hybridization of S in SFgis .............
(@) sp” (b) sp’ () sp’d () sp’d’

ii) Which of the following is the correct set of quantum numbers for the outermost
electron of silicon (Si) atom?

(a) n=3, £ =0, m=0, my=+1/2 (b) n=3, £ =1, m¢ =-2, m&=+1/2

(c) n=3, £ =1, m;=+2, mg=+1/2 (d) n=3, £ =1, m; =+1, my=+1/2
iii) The bond order in O, species is .....

(a) 1 (b) 1.5 ©)2 d)2.5

iv) The geometrical shape of BF; molecule is ..................... ‘
(a) trigonal planar (b) trigonalpyramidal (c) seesaw (d) T-shaped
v) The total number of electron pairs on P atom in PCl; molecule is ................

(a)2 (b)3 (c)4 (d)5

vi) The angular momentum quantum number (£) describes the ............. of the subshell -
(a) size (b) energy (c) shape (d) orientation

vii) The bond in HF moleculeis ...................
(a) ionic (b) non-polar covalent (¢) polar covalent (d) dative

74 11 ) SO suggested the presence of elliptical orbits in atoms in addition to the
spherical orbits.
(a) Plank (b) Pauli (c) Bohr " (d) Sommerfeld

C) Answer the following: .......cceoeeiiviiieniineniiiiiiiiiiiiiiiiii, (9 Marks)

i) Write down Lewis structures for each of the following: NO;™ and SF, , assign the
formal charge for each atom in both of them.
ii) Using the molecular orbital theory, draw the energy level diagrams for 0, and N,
calculate the bond order and predict the magnetic properties for each of them.
iii) Based on VSEPR theory, predict the electron domain geometries and the
molecular shapes for NH; and CIF;

[Atomic numbers: H=1, B=5, C=6, N=7, 0=8, F=9, Ne=10, Si=14, P=15, S= 16, CI= 17, Br=35]
Good Luck

Prof.Dr. Ahmed S. Elawad and Dr. Soliman A. Soliman
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